Master Budget and responsibility accounting

Learning objectives

Define master budget and explain its major benefits to an organization

describe major components of a master budget

prepare the budgeted income statement and its supporting budget schedules

Illustrate an activity-based budgeting approach 

Major features of budgets

Definition and role of budgets

A budget is a quantitative expression for a set time period of a proposed future plan of action by management.

Budgeting cycle:

1. Planning the performance of the organization as a whole as well as its subunits. The entire management team agrees as to what is expected.

2. Providing a frame of reference, a set of specific expectations against which actual results can be compared.

3. Investigating variations from plans. If necessary corrective action follows investigation.

4. Planning again, considering feedback and changed conditions

The master budget coordinates all the financial projections in the organization's individual budgets in a single, organizationwide set of budgets for a set time period. 

It embraces the impact of both operating decisions and financing decisions.

Operating decisions centre on the acquisition and use of scarce resources.

Financing decisions centre on how to get the funds to acquire resources.

Advantages of budgets

Strategy and plans

strategic analysis considers how an organization best combines its own capabilities with the opportunities in the marketplace to accomplish its overall objectives.

1. What are the overall objectives of the organizations6

2. Are the markets for its product local, regional, national, or global? What trends will affect its markets? How is the organization affected by the economy, its industry, and its competitors?

3. What forms of organizational and financial structures serve the organization best?

4. What are the risks of alternative strategies, and what are the organization's contingency plans if its preferred plan fails?

A framework for judging performance

Budgeted performance measures can overcome two key limitations of using past performance as a basis for judging actual results.

1. One limitations is that past results incorporate past miscues and substandard per.

2. Another limitation is that the future may be expected to be very different from the past.

Coordination and communication

Coordination is the meshing and balancing of all factors or production or service and of all the departments and business functions so that the company can meet its objectives. 

Communication is getting those objectives understood and accepted by all departments and functions.

Management support and administration

management at all levels should understand and support the budget and all aspects of the management control system.

An illustration of a master budget
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Fill in the missing numbers. -

Cost of goods sold budget, fill in the missing numbers. Enduro Ma-
chining has two direct cost categories (direct materials and direct manufac-
turing labour). Its single indirect cost category (manufacturing overhead) is
allocated on the basis of machine-hours. Numbers taken from the monthly
budgets for June 19_7 and November 19 7 are as follows: ~

June 19 7 November 19_7

Direct materials used ~ $2 ~ $ 847

~ Beginning finished goods inventory 8 :
Ending finished goods inventory ? g
Direct manufacturing labour 481 B
Manufacturing overhead 772 :
Cost of goods manufactured 2215 1,878
Cost of gobds sold 2,189 >
Cost of goods available for sale ? 1,949

REQUIRED

Fill in the missing numbers. ;
Sales and production budget. The Mendez Company expects 19_8 sales
of 100,000 units of serving trays. Mendez’ beginning inventory for 19_8 &
7,000 trays; target ending inventory, 11,000 trays.

REQUIRED ,

_Compute the number of trays budgeted for production in 19_8..

Sales and production budget. The Gallo Company had a target ;éndinl

 inventory of 70,000 four-litre bottles of burgundy wine. Gallo’s beginning
inventory was 60,000 bottles, and its budgeted production was 900,008
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bottles.

REQUIRED ;

Compute the budgeted sales in number of bottles. .
Direct materials purchases budget. The London Wines Company pre

 duces wine. The company expects to produce 1.5 million two-litre bottles

Chablis in 19_9. London purchases empty glass bottles from an outside vess
dor. Its target ending inventory of such bottles is 50,000; its beginning i

~ ventory is 20,000. For simplicity, ignore breakage.

REQUIRED

Compute the number of bottles to be purchased in 19.9. . 3
= e e g R e T e ..




[image: image3.jpg]6-24 Budget for production and direct manufacturing labour. (CMA,
adapted) The Roletter Company makes and sells artistic frames for pictures
of weddings, graduations, and other special events. Bob Anderson, con-
troller, is responsible for preparing Roletter’s master budget and has accu-
mulated the following information for 19_8:

19_8

January February = March April May

“w=mated sales in units 10,000 12,000 8,000 9,000 9,000

Selling price ' $54.00 $51.50 $51.50 $51.50 $51.50
“weect manufacturing labour-hours

ser unit 2.0 2.0 1.5 1.5 15
W sz per direct manufacturing

s wour-hour $10.00 $10.00 $10.00 $11.00 $11.00

Besides wages, direct manufacturing labour-related costs include pen-
sion contributions of $0.50 per hour, worker’s compensation insurance of
$0.15 per hour, employee medical insurance of $0.40 per hour, and social se-
curity taxes. Assume that as of January 1, 19_8, the social security tax rates
are 7.5% of wages for employers and 7.5% of wages for employees. The cost
of employee benefits paid by Roletter on its employees is treated as a direct
manufacturing labour cost.

Roletter has a labour contract that calls for a wage increase to $11.00
per hour on April 1, 19_8. New labour-saving machinery has been installed
and will be fully operational by March 1, 19_8.




[image: image4.jpg]Roletter expects to have 16,000 frames on hand at December 31, 19_7,
and has a policy of carrying an end-of-month inventory of 100% of the fol-
lowing month’s sales plus 50% of the second following month’s sales.

REQUIRED ,

Prepare a production budget and a direct manufacturing labour budget for
the Roletter Company by month and for the first quarter of 19_8. Both bud-
gets may be combined in one schedule. The direct manufacturing labour
budget should include labour-hours and show the detail for each labour cost
category.

6-25 Activity-based budgeting. Family Supermarkets (FS) is preparing its
activity-based budget for January 19_8 for its operating costs (that is, its
non—cost of goods purchased for resale costs). Its current concern is with
its four activity areas (which are also indirect cost categories in its product
profitability reporting system);

a. Ordering. Covers purchasing activities. The cost driver is the number of
purchase orders.

b. Delivery. Covers the physical delivery and receipt of merchandise. The
cost driver is the number of deliveries.

c. Shelf stacking. Covers the stacking of merchandise on store shelves and
the ongoing restacking before sale.

d. Customer support. Covers assistance provided to customers, mcludlng
checkout and bagging.

Assume FS has only three product areas—soft drinks, fresh produce, and

packaged food. The budgeted usage of each cost driver in these three areas

of the store and the January 19_8 budgeted cost driver rates are as follows:

January 19_8 Budgeted
Cost Driver Rates Amount of Driver Used

19.7 January 19 8
Actual = Budgeted  Soft Fresh  Packaged

Activity Area and Driver =~ Rate Rate Drinks Produce Food

Ordering (per purchase order) $100 $90 14 24 14

~ Delivery (per delivery) $80 $82 12 62 19

Shelf stacking (per hour) $20 $21 16 172 94

Customer support (per item sold)  $0.20 $0.18 4,600 34,200 10,750
REQUIRED

1. What is the total budgeted cost for each activity area in January 19_8?

2. What advantages might FS gain by using an activity-based budgeting ap-
‘proach over (say) an approach for budgeting operating costs based on a
budgeted percentage of cost of goods sold times the budgeted cost of
goods sold?




